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NODE=M108
G(PCy _ g+(a++
f,(2340) IGUPE) = ot )
(2340) MASS NODE=M108M

VALUE (MeV) EVTS DOCUMENT ID TECN COMMENT NODE=M108M
2345130 OUR AVERAGE
2362733 7129 55k 1 ABLIKIM 13N BES3 ete™ — J/¢ — ~nn
2339+55 2 ETKIN 88 MPS 2277 p— ¢o¢n
e o o We do not use the following data for averages, fits, limits, etc. ® o @
2350+ 7 80k 3 UMAN 06 E83 52pp— 17777r0
2392+10 BOOTH 86 OMEG 85 7~ Be — 2¢Be
2360420 LINDENBAUM 84 RVUE

IFrom partial wave analysis including all possible combinations of ot+, 27+ and 4++ NODE=M108M:LINKAGE=A

resonances.
2Includes data of ETKIN 85. The percentage of the resonance going into ¢ ¢ 2 ++ Ss, NODE=M108M:LINKAGE=C

Dy, and DO is 37 = 19, 41‘12, and 591‘%5, respectively.

3 Statistical error only.

NODE=M108M;LINKAGE=ST

f2(2340) WIDTH NODE=M108W
VALUE (MeV) EVTS DOCUMENT ID TECN COMMENT NODE=M108W
322% 10 OUR AVERAGE
334+ 924168 55k 4 ABLIKIM 13N BES3 ete — J/¢ — ~nn
3197 8 5 ETKIN 88 MPS 227~ p— éon
e o o We do not use the following data for averages, fits, limits, etc. @ o @
2184+ 16 80k 6 UMAN 06 E835 5.2pp— nnn0
198+ 50 BOOTH 86 OMEG 85 7~ Be — 2¢Be
150 120 LINDENBAUM 84 RVUE
4 From partial wave analysis including all possible combinations of ot+, 2t+, and 41T+ NODE=M108W;LINKAGE=A

resonances.

SIncludes data of ETKIN 85.
Statistical error only.

NODE=M108W;LINKAGE=C
NODE=M108W;LINKAGE=ST

£(2340) DECAY MODES

NODE=M108215;NODE=M108

Mode Fraction (I';/T)

M o9 seen DESIG=1;0UR EST;— UNCHECKED <«
L nn seen DESIG=2

£(2340) BRANCHING RATIOS NODE—M108220
I (nm) /Teotal r2/r NODE=M108R01
VALUE DOCUMENT ID TECN  COMMENT NODE=M108R01
seen UMAN 06 E835 5.2pp— nnnd

f(2340) REFERENCES NODE—M108

ABLIKIM 13N PR D87 092009 Ablikim M. et al. (BESIII Collab.) REFID=55387
UMAN 06 PR D73 052009 I. Uman et al. (FNAL E835) REFID=51063
ETKIN 88  PL B201 568 A. Etkin et al. (BNL, CUNY) REFID=40285
BOOTH 86 NP B273 677 P.S.L. Booth et al. (LIVP, GLAS, CERN) REFID=21870
ETKIN 85  PL 165B 217 A. Etkin et al. (BNL, CUNY) REFID=21871
LINDENBAUM 84  CNPP 13 285 S.J. Lindenbaum (CUNY) REFID=21869




